)

(b) ¥

(c) m@a;
(d) Tq=Tgeiys

W

SR e i 5 8 ol 2
(a) =1gw (b) 71
(c) =m (d) weh

4. freafafs § qoaw g 2
(a) 3™ _Ab) HT3
(c) 719 (d) gy

5. “Rorge I SR GUeA foha1 T B | 39 T
¥ forg o 7= R
(a) M
(b) FF=EN
(c) fagf
(d) FgH

,M/Rumémmﬁqgmgl

(b) Y 7& %1 W1z wgq vl 2 |

(c) STt i aTet AT <R &, a8 1 A £ |
(d) 991 T firrg ot dfd |

PCUX-2+y

7. & A e qun 3ew HA H GIA A g
a8l faspeq o1 =g AT |
qerad w4
%) Bl @M ) g @ B
HEET |
@) oIl q T A °) g AE FE
e 7 |
g) $=ai F FT ATy
2MET |
g) Jfer™ T |

M) BIdl IHSAT

q) Bl ®eAl

F:

(a) %-¢, @-H, 1-9, 9-9
I/w) %-HA, -4, 1-3, 9-9
" (c) -3, @-H, T-H, 9-9

(d) %-9, @-3, 7-H, 9-°

8. Frefafiaa wedi § Yoomef= fean 2

(a) =& (b) feeram
(c) Sfimr (d) T

9. JMefieh 1 qNd I @
(a) 3= (b)
(c) e (d) 3

10. fr=fafed § HH-|1 vl aee T 7
(a) = (b) &
()= d) ®

Il ¥ 8 ‘3w’ weg 1 wararE v

(al (b) Fe
(€) i (@ s

12. Fefafen 3 @ v weg ) A
agfe 2, 77 weg 3 s
(a) 4
(c) |HR

(b) witwg
(d) #v,




D e ——

| Eﬂ% pcux-2-2

w 13. i ;
| iﬂ?;ﬁﬁ‘ﬂﬁ_wé 17. wﬁrﬂwﬂ‘lﬁ“%
‘ a + T
®) B+ o s s e
AT (d) fq + = /Z)ﬁsaqéﬁm
14, W‘ﬁﬂmmmﬂgaﬂ%? (C)W:ﬂaﬂ
AT (@) eEh (@ feer
15. cEH-qeqd YIea] hl h-|1 I FE ] ? : A
‘ . o it @ T
(a) &3 - Tq (b) ¥ - ¥ 18. ‘Eﬁﬂmaﬂzagﬁw
(c) Tk - FaHl  _hd) T - TU 2 war Ieal & 7
e
(a)-gqm‘&ﬂ'a‘im'@m'iﬂm%
w9 §E&AT 16 ¥ 20 % faw mqﬁﬁm§
sufifEd T # wE A O T T e (b)gaﬁﬁmwwmﬁ%%
16 & 20 % I 3@ T F IET T AR ; (C)@wm@mmmm%ﬁﬁ
WWWWT@%@I'@WMQ:@T wmmﬁmﬂmqﬁ@ﬁ

T 3 | T Ereren e e el S 3 w5 A
73 7 T qE ) B ) FA H GER I T Mg‘gﬁ@@zmﬁ@ﬁﬂ
%,su%wuﬂﬁwmm%ﬁmtm@ma
@ & | &9 3@ SR Y W R e @ o
o S T H SR @ e | W R | 5y ) F T

@mwﬁlwwmm%wéﬁﬁ% (b)ma’m%
mwsqafa@mguﬁsﬁawaﬂ@mﬁﬂmaq
w%ummﬁﬁaﬁaﬁﬁﬁﬁf&:ﬁﬁsﬁ@ (c) FETIHATTEAR
ate 7 3 g5 3N reht & T R | @ 90 P R
16. Wm%gqﬁmm%,ww%ﬁﬁw
i e 7@ & 20. mﬁaﬁﬂmaﬁﬂm%ﬁwmi?
(a)wﬁ@mmmﬁ
_ (a) YT 1
/fﬁfmsﬁtﬁ@mmﬂaﬂaﬂmaﬁmm
&7 T R (b) W@
(c)-@ﬁﬁmmﬂi /6‘4‘!@331’11&@133%

(d)maﬁuﬂﬁmmﬁ (d) Free1 @ farvame




21, wy;
ich of the following is (he meaning of the

idiom ‘s of the earth’ 2
(@) a selfish person

(b) a dry person

(€) a useless person

Adra very good and honest person

22. Fillin the blanks with appropriate prepositions :

He is Jjunior me service.

(a) than, in
(b) to, by

(c) then, in

,(d’)/lo, in

23.  Which of the following is wrongly spelt ?
(a) accede
(b) accessory

/&ﬁbsces

(d) accelerate

24. Fill in the blank in the following sentence with

appropriate conjunction :

she will die.

She must weep,
(a) and
(b) but

PC UX‘Z = 22

APIDATED,
25 Point out the synony™ of DIL

4 broken

(b) lowered down

(c) ruined

"}d) weak

riate meaning of the idiom
s’ 7 Find out the

ng options.

26. What is approP
‘Do not always pick hole
correct answer from follow!

Mticizc
(b) Dig holes

(c) Keep quiet
(d) Pick up a quarrel

i - US.
Someone ‘‘strange Or unusual in an amusing

way”, is known as

27,

(a) Zap
(b) Zombie
(c) Zany
(d) Zit

Instruction for the Question Nos. 28 to 32.

Read the following passage carefully and answer the

following questions that follow :

Since modern industrial society is highly organized,
if there is a strike in a vital industry, the whole

community suffers. I am not arguing that, the right to

(c) because

/LéUor

-4-

strike should be abolished. I am only arguing that, if



b

1018 to be preserved

s itmust he
¢ for feasons concerned

with this particular n;
matter, and notan penery]
eral grounds

onal liberty. Ina highyy Organized
‘@ country there

J———— :

y activities which are important ¢

| | v everybod

d ‘ ;

nd without which there woulq pe o
Widespread

hardship.

28. According to the author which one of (1
ol the

following best express the industrial society ?

_~a)In an industrial society members are

dependent on each other

(b) Industrial society is blind to the needs of

its members

(c) In an industrial society the individual

members is not important

(d) In an industrial society power is

concentrated in the hands of few

29. A strike is generally regarded as

/(4)6 expression of individual freedom
(b) an undemocratic act
(c) an act of indiscipline

(d) a gross violation of rules

pcux-2- 2

30, The phrase ‘this particular matter’ refers 0

mg interests of the factory owners

(b) the unity of strikers

(c) the suffering of the strikes

/6 the fact that industrial society is hi

organized

ghly

assage, if thereis @ strike 1n

31. Inthelight of the p

a soap factory, it may be viewed as

Wmatter of deep concern

(b) not a serious matter

/@{Serious matter

(d) a thing not likely to happen

32. The author is of the opinion that

(a) strikes should always be encouraged

(b) strikes should be suppressed by all
means
(c) all strikes are bad

/@Klrikcs may be there in the interest of the

general good
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33. Individuals receiving the meskage ask 33 w2 T e ﬁ'wﬁiﬁr w7 v PR

themselves the basic question,

I: Is the person givin
g the message (rustw
and sincere ? ; ohiy

IT : Does the source know anything about the
subject ?

Using the codes given below choose the correct
alternative.

(a) Only I is relevant
(b) Neither I nor II is relevant
(c) Only Il is relevant

)d.)/Both I and II are relevant

If 131x + 217y = 827 and 217x + 131y =913,

then what are values of x and y respectively ?

A{;*M/;A'
g >

34.

(a) Sand 7

\_/(ftfﬁandZ

(¢c) 2and 5
(d) None of the above

35. ‘Do you like working 7’ This question is an

example of

(a) Open questio

(b) Negative question
(c) Close question L
(d) Positive question

36. What type of communication is a press
release 7

(a) Public /

(b) Interpersonal

(c) Intrapersonal

I:ww&aﬁé&wiwi,ww

faran B 7
10 : e i fer 3 A & % e 2 7
A9 e g Hnel A T 0k a8l fashed F

=74 HifT |

(a) et | wrafie

(b) 1 1 3 7 11 i 2
(c) Sae 11 rafTeh

(d) 21 1 3T 11 STEifi &

34, 3R 131x + 217y =827 W 217x + 131y =913,
ﬁx@y%ﬂﬂmzwg ?

(a) 5@ 7

(b) 3T 2

(c) 2T 5

(d) 37daa 8§ | I3 T

35. wa@mmq@%?’uﬁwwm%

(a) @1 R
(b) THRTcHH H3H
(c) 5q ¥
(d) FHTEH A

36. 3 famfer fFg wR w1 F=NR ?
(a) GEFH
OIERERIERES
(c) 3= frieh

(d) None of these

(d) 398 @ &I 7



peux-2 -2

37.  The median of :
the firs .
@ 110 € hirst 10 prime numbers is 37, werg 10 T e el z
(b) 12.9 Y= V) v 2y (@) 11.0
() 12.0 — 213 Mgy (b) 12.9 -/"b[
(d) 13.5 T — (c) 12.0 %f{
(,D@ ’(/ TPV @ s %
38.

Complet i
plete the sequence with the correct option
from the following alternatives.

HOTEL: 12:: FILM : ?

18, P Frsed @ wh faed 70 AT e

39. Four pairs of numbers are given of which three
arc_ ahke and one is different. Find the one
which is different.

(@ 5,75 <\ S
(b) 11,363 —

\M 108

(d) 9,243

40. Numbers of triangles in the following figure is

d) 24

(a) 18
22

According to ‘rational decision making model’,
last step is

L-(11’)/51=:lection of the best alternative
(b) Evaluation of alternative
(c) Selection of alternative

41.

qof HifT |
HOTEL : 12:: FILM : ?
(a) 10 (b) 18
(c) 14 (d) 16
39, s 3w g e & o e
3 T e R | 3@ IH T it |
@) 5,75
(b) 11,363
(c) 7, 108
) 9,243

40. ﬁmﬁmmﬁﬁﬁgﬁaﬁﬁw%

N

(b) 26
(d) 24

(a) 18
(c) 22

41, et e R 36 ST 3 SR < S
(a) Tatam foehed &1 =8|
(b) faehcq &1 HEaTHA
(c) fererea &1 =@A
(d) fashea N vg=m

(d) Identification of alternative




Eﬁ PCUX-2-22

2 e 540 HEL 3 T TR

42. Pen I

rm[i'lmcflffr of a ln'fmgul;\r field is 540 meter, The | 42, T gt & & A%

AHO OIS arms iS 51 12 1 13, The aren of this i a i 5012 138 |78 G0 AR

ficld is e ’ LR

1 BT 7

() 9560 sq. meter (a) 9560 @ et

(b) 9720 sq. meter (b) 9720 @t Hiet

(c) 9450 $qQ. meter (c) 9450 a1f e

(d) 9320 sq. meter () 9320 =1 H&

" 2, @ 27 3T,

431713 August, 2017 s Thursday, henwhatday | 43, 13377, 201771 Wﬁq‘amm‘ ?

of the week would be 27" August, 2023 ? 2023 H) aTE 1 FA-H '

- b) eEr
(a) Thursday (b) Sunday (a) ®
| (d) TfET
(c) Friday (d) Saturday © %
12 M b 3
, | s 1 xgzsx[i) 3 3 TPHES H FS 2
44. Number of prime factors [1] x 8% x (z} 15 T \6 4
6 (b) 52
(a) 33 (b) 52 el
(c) 36 (d) 37
(c) 36 (d) 37

afe freh Fam & Siqta 5341, 4086 & wRElda

i 4086 | 45.
® fn?ic; ?sn:rearr:lfzrsxi:; :Z ;r;g;f(:&e;lﬁtl will o1 4772, 5265 @ TRt fea St R, @ 7614
be transformed to wfeafdd &
(@) 4238 Cy4 | - 40 %¢ (a) 4238
(b) 8645 mg« L Y C 64 (b) 8645
(c) 6174 (c) 6174
(d) 7038 (d) 7038
46. What is the main characteristics of Delphi 46. wg Fofa A4 # Ih et < Ea faRa
Technique for group decision making ? w®Q?
(a) Face-to-Face communication (a) AT FER
(b) Verbal communication (b) wfeesh TEW
(c) Alternative communication (c) fasheq gaR
JM Written communication / (d) faftga @=m




41. ‘.Which one of the following is NOT a ski
interpersonal interaction 9 o
(a) Positive thinking
(b) Administrative power
(c) Empathy
(d) Courtesy

48. You are a Police Officer, your duty is assigned
a.t the State fair. Which of the following
situation do you handle first ?

(a) There is crowd forming around two
unarmed teenagers ongoing With arguments
(b) A man obviously drunk has passed out
and lying by the ticket booth
QM A dumpster next to the main tent
pavallion is on fire

(d) The ferris wheel is stuck in midair with
people still on it

49. Find the missing)etter from the following.

Blac|N
o y]?}R o
e n]

(a) U

(b) V

) X

M

50. Which statement 1S NOT correct ?

Every rectangle is a parallelogram.

(b) Every rhombus is a square.
(c) Every rhombus is a parallelogram.

(d) Every square is a rhombus.

D

7

PCUX-2- 22

47. ﬁnﬁarftaaﬁaamw%mmwﬂ‘“
foran 1 s e T R

48. m@gmmrﬂ%,axgtﬁﬂﬁm

(b)qﬂﬁ%amsﬁwﬁm"m fere
fgsh & TE TS

(c)g@:aqﬁ%\ﬂ%m@ﬁ%gﬁ
F @t R -

(d)a@s@ﬁﬂmaﬁﬂ%%aaﬂmzm
e o, & T

b)) V
© X
d W

50. P-T Y T TR 7
(a)mm@wmv@ia%t
(b)sl@*w@iﬂ@aﬁ%\
(c)mm@iﬁ'@mv@ﬁa%\

(d)maﬁqasm@jﬁl
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5 1. Wh.
; NN A = g2y JHe AN ATRr
the relationshilht:,fonow“‘g context refers to | 51, Fiefefiaa i @ -4 Rﬁf |
receiver 9 P between the sender and the ¥ ol geivl ) G E 7
(a) C}UODOIOSiCal (a) W’n:_ﬁgm
(b) Culturg) (b) HiEFfh
(c) Physical (c) iferk
A Social (d) @i
ﬁufa’[ HAld24hdl §
52 The tendency to have more confidence in | 52. 3l 1 IR A % Jid
Judgements and decisions than we should, is iy FETE BT, HEAT d
called
(a) TCAMITETH
(a) Self-confidence
b) favam@
(b) Confidence ®)
_LeyOver confidence ORI
(d) None of these (d) 37 & ®IS el
/5;. Choose the odd one from the given options. | 53. f&@ ot 3 & fowm AT |
(a) CE7 (a) CE7
,,(bﬂ\Z 27 (b) AZ 27
() GI 17 (c) GI 17
(d) LP 28 (d) LP 28
54, Which one of the following valid conclusion | 54, Fefifiga snumaTR @ A9 fqu M freeaf & &
can be derived from the following premises ? FH-T1 T a9 s fepren w1 whd 27
Premises : 1. All scientists are graduates. anurETEa ;1. g} At = 2 |
2. No supervisors are graduates. 2.9 AT ETaH &
ConcJusion : frswd -
No supervisors are scientists (a) FY IR A T 3
(b) No graduates are supervisors (b) HI§ FIqH GIETEH &l &
(c) All graduates are scientists (c) Tft Tk A &
(d) All supervisors are scientists (d) Wt gz i 3
D .10-
i
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55, Find median for the following data :

Class

Interval 0-20

20-30{30-4040- 50

F W
requency 0

(a) 38.5
(b) 34.56
(c) 36.6
(d) 32.67

56. The process of listening consists of

(a) 4 stages
(b) 7 stages
(c) 5 stages

(d) 6 stages

is expressed as ‘HOME’ in a code

If ‘GOLD’
word and ‘SONS’ is expressed as “TOOT’ in

word, then ‘CORD’ can be expressed

57

a code
in code word as

(d) TONT

58 P and Q are in the ratio 5 : 6 and difference of
their squares is 99. The value of P is
(a) 18
(b) 22
(c) 45

S
c

55, fefeftaa siwsi

pCUX-2~ 22

o Ad -
¥ fequ wifoTHT A1 1A

40 - 50

0-20 20 - 30 i) — 40

autaa

40

[

42 5%

s

25

(a) 38.5
(b) 34.56
(c) 36.6
(d) 32.67

56. @ﬁmﬁﬁﬁaiﬁﬁ

57.

58.

4

D

£ <
i 4/

Pz

n 2

-

11-

T @W / -
f ¥ V’@ | :’gvé

(a) 4=
(b) 7=
(c) SEM™
(d) 6=
‘HOME’ & TaRid

| «TOOT’
2 T |

afe ‘GOLD’ &l FZ 9 L
foa STl 2, T ‘gONS’ &l 2 Ml
2 wefdfa fra v B, @ ‘CORD’ 1
¥ frad weidfa fapan S Eehdl 27
(a) TOPT

(b) DOSE

(c) TOOS

(d) TONT

PamQ,S:6%aqgmﬁﬁ%3ﬂI3=r%arﬁm

=T 99 2, @ P 1 WA 2
(a) 18 Y \ é s
(b) 22 f? o {F o
(c) 45 7 ; pe i
@15 25 - % f -

— =2



59. Which of the following is NOT g st

I’(,‘UX-2-1

age of 59, by e i Freiferfia o @ FF-41 0F
creative process in decision making ? ufseant w1 =ror E 2 7 |
,&r)’Venhc “ation (a) GeATH
(b) Identification of proposition (b) Wetd 6l TE=H
(¢) Preparation (c) i
(d) Tlumination (d) S
60. lfx_ thcnva]ucof4x —2x>-8x+5is | 60. afy x= : ,ﬁ4x3—2X2_8X+5
J3+1
~ EARIC|
0 gn—»/@z{@f*) %
(b) 2 (a) -2
@ % [JY"M—‘) (v) 2
(C) -1 (C) 1
d o0 (d o
61. What is correct order of writing a press 61. 3 famfa foes &1 wd F3 =R 7

release ?
1. What happened ?
2. Who did it ?
3. Headline
4. When did it happen ?

Using the code given below, choose the
correct alternative.

(a) 1324
Ko 3142
(c) 3412

(d) 2314
¢ ;4/
4w, 5

In a secret code message ‘HOTE
300. What will be the code f&f ‘HOSTEL' ?
(a) 558
(b) 360
(c) 474
(d) 374

62. 1§ coded as

S%
‘i

=

-12-

1. AT 7

2. 9% forma T 7

3, ¥y

4. Tg %a g 7

f1 fow U Al 1 I FH TE THA
1 =57 HINT |

(a) 1324

(b) 3142

(c) 3412

d) 2314

62. W T g §eW H ‘HOTEL’ % 300 % &9 1 Hifg
fopan ST 2 | ‘HOSTEL’ 1 <1 &I 8FTT ?

(a) 558
(b) 360
(c) 474
(d) 374



15 letters of English alphabet gre
t R

6 };L‘l(“\"(t 3 o arranged
. G F ?J M

P 0 X' § H‘r

) zAR 1V EO

"; g w>~DFKS QT

"UN WV G TP Y

If all the letters were to be arran
ulpl}a\beyiclely. which letter would NOT Chugnegi
its position ?

(a) U

) Y

() W
d) X

Which option is/are to be followed ?

Statement : Money is a huge motivator.

Conclusion : L. People get motivated only
when they expect to get some
money for doing or behaving
in a certain way.

7 There are some factors
other than money which also
motivates people.

Codes :
(2) Only 1 follows
(b) Neither 1 nor 2 follows

sef Only 2 follows

(d) Both 1 and 2 follow

65. A tendency to fixate on initial information is

called

(a) Overconfidence bias
(b) Availability bias

(c) Anchoring bias

g_ag.dr} Confirmation bias/

63.

64.

pCUX-2~ 22
Fisft aotaren % 25 af <fr1 emafeed 2.
v ¢ F U M
P O X S H
)z A 1 E
B L D K Q
N W G T Y
qﬁwmﬁﬁmﬁmﬁmwmﬂmqﬁﬂ

mmﬁﬁmﬁﬁﬁﬁmﬁﬂmw
(a) U
b)Y
(c) W
(d) X

for R b1 g fopn T #/2 7

FU ; Y T 9gd 991 T @ |
frard: 1, w4 & 9w T8 O T

i & FQ W SEE W F 0
§@mm%ﬁ@m$@%l
2&m%mqu@@$ﬁ%ﬁ

<t & A T & |

F2:

(a) S 1 T B @

(mqﬁlqé2$Wﬁ@m%

(c) e 2 R B B

(d) S | T 2 I A 2

65. uﬁﬁm@mmiﬁu@ﬁﬁﬁmﬁ%

(a) F-FefaaTE TaTTE
(b) JoereHIlt IE

(c) TRl GaIE

(d) wfee g

&

M Boen oy 4 T AWy e—_——




66. A circle touches all four sides of g quadrilateral

ABCDW*DSCSidGS&NAB:Scm.CD=9cm
and BC =7 cm. The length of side AD (in cm) is

(a) 8 (b) 12

(c) 10 @ 11

67. Which of the following is NOT a feature of

group decision making ?
(a) Joint responsibility for the decision
) One head is better than two

(c) Active interaction between group

members

(d) Consensus among all the members

68. Find the missing number.

(b) 21
(d) 20

(a) 18
(c) 19

69. From the followmg equations X% + y =41
andx -y -369thevalucofxandywnll be

pCUX-2-22

(d)wm%ﬁa““ﬁ(m)

(b) 21
(d) 20

(a) 18
(c) 19

69. ﬁﬂﬁif@ﬂmﬂﬂiﬂﬁx2+y2=4l@x4—y4=369

# x T§ y 1 HE HHA: BT

respectively > @f?]ﬂ 0 520
e o Ne7
b((:;/i:.:: @ /‘j’> [ 75% ib; iji:
(c) £4,%5 c ,
@ v O] 0 )
D 25
. ’l/// &P /.)//
n Qﬂ“ﬂ



f & pCcUX- 2
. L

70. Arr i '
ange the following words in meaningful | 70. Frferfeae e

logical order. priy
e (. Foft 7
2. Sometimes , é‘{'/
3. Generally : s J—"" % |

4, Seldom
5. Always

(@) 5,2,1,3,4 ﬂ/ j @) 5, 2 1, 3,4 (7
V2 (b)5,3,2,4.1 p =
.‘/('()’5, 3,2,4,1 })/ 5 B 2.1 Wg%

O 52,4 3,1
) 5,2,4.31 S hH o @sh?
' el BT
71. The graphical techniques that can be used to ¥ il i 2 |
represent nominal data aré e on - e /
) bar chart and pie chart - e i P [ C’]
(b) histogram and ogive et o o -
(c) bar chart and ogive i g N .
(d histogram and bar chart :
" A o @ T
72. uaﬂ,aﬁﬁﬂmé% - éﬁazﬁigﬂ’l%\
Rajan is brother.of Sachipa g it i 3 B,
of Rajan. Jagat is br e s
daughter of Sachin.
Jagat? (a) TSH
Rajet (b) Ei<H
(b) Sachin P
i @ v @ A
(d) None of these

7. gr;:;,b?cf I;h:j{gfljl{c;:;}u;g is NOT character1stics 73 o s 7
(a) Size of the problem (a) THET AT
(b) Similarity of the problem (b) eI < FHAC
4§ Complexity of solution (c) HATUH I Ffeed
(d) wven feufd uce

(d) Organization of problem situation
.15-




75.°

76.

77.

. distraction during communication are known as

If lhe co
mpound interegt o a sum for 2 years

at 12 %
5 70 Per annum jg ¥ 340, then the simple

mterest on
et the same Sum at the same rate for
© period of time jg

(@) 310
(b) 335
(c) T 320
d) % 330

Th :
e background signals, distortions and

(a) Nois
(b) Loudness
(c) Feedback

(d) Receiver

The sum of deviations of a set of observations

Xy Xpp oo » X measured from 50 is 10 and
the sum of dcvnanons from 46 is 70, then the

number of observations is
(a) 10
(b) 40
(c) 20

(d) 30
V2%

Find the missing number in the following series.
/ / » * /1 ’

% u«//
(a) 13

74, uﬁwuﬁ]rﬂzﬂﬂ IZ

ik lkaail

76. &I b FEE X)) X,

@ ¥

() %)

e

pCUX-2~ 22

ol =l T30, T TW‘ﬁ Qs
et arafy 3 forg el AT Al
(a) T 310
(b) ¥ 335
(c) X 320
(d) T 330

‘;}TTU?

fopfer 3T SATH AT

) AT ST 8
(a) T

(b) st
(c) wagfe
(d) STl

X # 50 @ T ™

mmuﬁ—w%ﬁ%ﬁmmm
o1 70 2, 7 deil N HEA 8

(a) 10

(b) 40

(c) 20

(d) 30
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(a) Mass ¢ X S e N
iy ommunication (2) % 4R
trapersonal COmmunication

) (b) i &afRih H#A
@ o crpersonal communication (c) e H
TOuUp communication
(d) W E=N
79. The fifth |
letter of the letter sequence 79. @ agEn Y, W, T, R e %

Y’ w' T' P’ ..... is
(@I ®) ] o

() L t)d/K X T

80. Which of the following is an example of dress go. f=fafEd i Q@A

code communication ?
(a) Spoken (b) Verbal
/6 Non-verbal (d) Written

- # A @ §EE T4 i |
81. Find the missing number from the following 81. frefatad farehedl g«
alternatives.
21 24 36
21 24 36 | —
12 11 14 12
4 prmm—
[ 11 1 4 ; ? ____.—4
? — —
""i_‘—t 108 T 112 108
77 112
(b) 3
(b) 3 (a) 2
a) 2
EC; 4 ) 6 (c) 4 (d) 6

82. u&ﬁ:ﬁﬁéﬁﬁwzmwam%,a‘}
m%;qsameam%zﬁtﬁzaam% RIS

ﬁﬁwma?(w?ﬂ

(@) 680 (b) 4 ¥l

(a) 6¢cm (b) 4cm
(c) 7cm (d) 8cm (c) 78H (d) 8&d

e radius of a sphere is increased by

g2. If th
a is increased by 352 cm’.

2 cm, its surface are

22
What is the radius of the sphere ? [1: = —'f]
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3. lnaletlcr Series 21
=" a__ bbanee 83, anf anfl i

(he m'“‘"g lette e a__bb_a__bbaacc__a,
'S in the Proper order are F- N
(@) cbaccpy udl 0 i e avf 2 !
(b) beabey (a) cbaccbb i
(€) bbacchp (b) beabcbb l
) — (c) bbaccbb |
(d) ccaccbb ‘

freferfaa # § FH-91 gh T FEA g
aTet &1 fadyenii @ wafad @ 2 7

(a) FHATOT HRH
(b) Generality of solution steps (b) HETUT & et <l HHT

Y Set variables (c) formama =
(d) & 3 3 r2TE

84,
t\l’:/hlch of the following is NOT related with | 84.
€ characteristics of problem solver ?

(@) Motivationa] factors

(d) Past experience and practice

85. Which of the following is NOT a barrier of | 85. Pefufga § @ #4-d T W &= & =y

effective communication ? THE ?

(a) Noise (a) T

(b) Culture (b) HEFfa

(c) Language (c) vt
(d) Tr

/(o‘)/ Colour

86. A person buys 4 horses and 86. T =fFq 49 wg 9 7l i ¥ 13,400 ® Gltean

9 cows for T 13,400. If he ; y
sells the horses at 10% profit 2 1 2R g =St H1 10% T A F 20% T
and cows at 20% profit, then T ST &, O 36! el a9 T 1,8808 | T TH
he earns a total profit of
T 1,880, What is the cost of a I S g 7
i Z 900
(a) X900 gHA A 9C “ ’ L
(b) T400 A % (b) 400
AT T 600 44h 9 79’ )3(523 600
(d) None of the above f ) W i3 T
‘&d/, 1) 8C= ’MD ez &P
(58 0V

) /Q/b’/(ﬁ, SRR




q.
Which Number does 715 iiIVIi’I\{r';‘L'I“ION
() NOTION vand for 7
(b) MOTION
(©) RATION
@ NATION
i b+ 20 + 26/
+ HI=18,M=26 and comE -
oACOis 4 pns g
@n | ® 44"
(c) 40 (d) 72
89. Read the following statements and select the

correct answer.
Statement 1 : Communication is irreversible.

Statement 2 : Communication is constant.
(a) Only Statement 1 is true
‘/654‘1 either of the statement is true

(c) Only Statement 2 is true

(d) Both the statements 1 and 2 are true

What percentage of message is perceived

90.
non-verbally ?
(@) 30% (b) 40%
© 55% (d) 50%

term from the following

Y

Identify the missing
options for the given series.

AND, COF, FPI, JQM,
(a) QRS (b) ORS
(c) PRT ORR

91.

87,

88.

89.

90.

91.
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:ﬁﬁ‘I234567]586¢1 el
U 671586 &1 31 ony 2y 7
(a) NOTION .
(b) MOTION
(c) RATION
(d) NATION

e 1= 18, M = 26 T COME =72 %, @ GO
&I 0H 2

(a) 38
(c) 40

(b) 44
(d) 72

ﬁﬂﬁaﬁaﬂwﬁaﬁmaﬂtﬁmﬂw

=Hifs |
e 1 : T STEdA R |

o 2 ; T R R |
(a) Hact I | &4 2
(b)a‘-ﬁﬁaaﬁéwqﬁ%
(c)mwzm%
(d) St FeEH | 3 26 B

ﬁ%mmmmuﬁmmn&%mﬁﬂaﬁiﬂ

fpn ST & 7

(a) 30% (b) 40%

(c) 55% (d) 50%
fou T Hj@en % g Pt fased § & g9
1z &I TE=H T |

AND, COF, FPI, JQM,

(a) QRS (b) ORS

(c) PRT (d) ORR
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P
2 ) (7
92 pCUX-2 =122
3 TJhEL‘)CM Ofxz_ i . s 2. xy +y3?m
x‘xﬁ)/*x_yz_,_y:\.y X =y and 92, x* -y xJ—yJGfﬂ" e X3
(@) (x +y)2 x - y);s aam guryad 2
®) (x + ¥) (x — w2 (a) (x + y) (x - y)
= XY
© (x + Wi~ xy) (b) (x +y) (x- -y’ o +y J()
NE-ye2ey?y ( y)(xz*y re
(d) (x + ) ( y Xy) (¢) (x+y)(x- % 1)
XTG4 xy) @ ey LT
93. Decision 3
) Somt:zakmg occurs as a recreation to 93, ffa S afFAl & ¥ (ﬁbfm £
(¢) Moog " (b) Communication (a) GETE # t £
__{dy Problem () weAre (
94. Th , £ g ?
fgure 1o " Of Parallelograms in the adjoining | 94 ¥<T srpfa # T ot
(b) 16
(a) 13 (b) 16 (a) 13 L =
(c) 14 ) 15 (c) 14
2 oftqor <t s SO et R,
95. Going 50 m to South of her house Radhika tums 9s. TfHH S #. 9adt 2 | Iq%F g IW B
left and goes to another 20 m. Then, turning to fipr amd gt 20 - £ e
the North, she goes 30 m and then start walking gt 30 . Terdt 8 3R El'b‘T
to her house. In which direction is she walking ot & | 37 8 fem # =@ @ 27
now ?
e D) H
\Morth-Wcst (b) East (a) I i
(c) North (d) South-West (c) IM (d) Tfer-fEm
v ..
96. %s related to 81 and 271%related to256inthe [ 96. 8, 81 3 a1 27, 256 q 3 TN gafuq & 5@
same way as 64 related to TR 64 Gald 2
(a) 225 (b) 625 (a) 225 (b) 625
(c) 425 (d) 525 (c) 425 (d) 525
.20-
so [q

2&




97. In decision making quality of choices are
influenced by

(a) Mental set
(bY Perception
(c) Abstraction

d Intelligence

98. Statement : Some rats are cats

Some cats are dogs.
No dog is cow.

Conclusion : I. No cow is cat.
11. No dog is rat.
[11. Some cats are rats.
Choose correct option :
(a) only I and I follow
(b) L1L 1T follow
(c) only 11 and I1I follow

_4df only Il follows

99. Which of the following is NOT a widely
recognised and accepted style of interpersonal

communication 2
Mggression (b) Manipulativeness
(c) Assertiveness (d) Persuasion

100. Which approach of decision making involves
solving a problem using traditional means ?

(a) Routine approach
(b) Creative approach
(c) Quantitative approach

(d) Scientific approach

97.

98.

99.

100.
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ﬁﬂa%ﬁﬁf&ﬁtﬁaﬁwmmﬁﬂaﬁl%
(a) Tfeh famme @

(b) TeaHfi @

(c) 3 &

@ e d

A Q@{Bﬁﬁﬁﬂgl
g@ﬁ%ﬁﬁb

fred: L ﬂﬁimﬂﬁ?’vﬁﬂﬁal
1L a»‘ég;m‘{aqif%l
Ill.gnﬂﬁ%ﬂﬁﬁén

ad e H AT

(a)mlamuaﬁﬁ

() L 1L, mad 2

(c)%aanammaﬁ%

(d) et [ FE &

ﬁqﬁfﬁiﬂﬁﬁﬂq—mwﬂﬁﬁaﬂﬁm
w9 & W3 i whpa eh 7 2 7

(a) SATSHIHEHAT (b) W&

(c) F& (d) FFFA




